

حل المسألة باستخدام طريقة الحذف

14

المسألة: حل النظام التالي من المعادلات الخطية

أ) $x + 1 - 2x - x^2 = -2x + 1$ $\rightarrow x(x-1) \rightarrow x = [0, 1]$

ب) $x - \{0, 1, 2, 3, 4\}$ $\rightarrow x + 1 = 0 \rightarrow x = -1$, $x = 0$
 $x + 2 = 0 \rightarrow x = -2$, $x - 1 = 0 \rightarrow x = 1$

ج) $x - x - x^2 \geq 0$ $x^2 \geq 0$ $-x \geq x$ $x \leq -x$ $x \leq -x$

$x - x^2 \geq 0$ $x(1-x) \geq 0$ $x \leq 1$ $x \geq 0$ $x \in [0, 1]$

د) $x - 1 = 1$ $x = 2$ $y + 1 = 0$ $y = -1$ $y + 1 = 1$ $y = 0$

هـ) $x^2 - x - 1 > 0$ $x = 1, 2$ $x \in (-\infty, -1) \cup (2, +\infty)$

و) $x - 1 \geq 0$ $x \geq 1$ $x \in [1, +\infty)$

ز) $-x + ax + 1 = 0$ $-1a = 1$ $a = -1$

ح) $-x^2 - \frac{1}{x} + 1 = 0$ $\Delta = \frac{1}{4} - 4(-1) = \frac{17}{4}$

ط) $a + b = 1$ $\frac{1}{x} + \frac{1}{y} = 1$ $\frac{1}{x} = \frac{1-y}{y}$ $x = \frac{y}{1-y}$

ي) $x - 1 \geq 0$ $x \geq 1$ $x \in [1, +\infty)$

المسألة

1

PASARGAD

DATE:

$x = [-1, +\infty)$

$$f(a+1)(u) = -3 + f(a) + a$$

$$13a + 18 = 3a - 3$$

$$10a = -18$$

$$a = -\frac{18}{10}$$

(4)

$$\sqrt{x-\sqrt{x}} + \sqrt{x+\sqrt{x}} + 1, 1 + \sqrt{x-\sqrt{x}} + \sqrt{x+\sqrt{x}} =$$

$$x + 1(\sqrt{x-\sqrt{x}} + \sqrt{x+\sqrt{x}})$$

$$A^2 = 4, A = \sqrt{4}$$

$$A = 2$$

$$A = 2$$

$$x \leftarrow f(x) - f(x-a) = 3x^2 - x$$

$$x \leftarrow f(x-a) - f(x) = 3x^2 + x$$

(3)

$$-af(x) = 10x^2 + x$$

$$x = -1, 4f(x) = 3m + 10$$

$$x = 0, 4f(x) = 3m - 1$$

$$4f(x) = 3m + 10$$

$$f(x) = 3m - 1$$

$$9m - 1 = 3m + 10$$

$$6m = 11, m = \frac{11}{6}$$

$$f(x) = \frac{1}{x} (3 + 10)$$

$$f(x) = \frac{13}{x}$$

(3)

$$ax + b$$

$$① f(x) + f\left(\frac{1}{x}\right) = \frac{1^2 x^2 - 1^2 x + 1^2}{x}$$

(1)

$$② ax + b + b + \frac{a}{x} = \frac{1^2 x^2 - 1^2 x + 1^2}{x}$$

(3)

$$\frac{ax^2 + 1^2 x + a}{x} = \frac{1^2 x^2 - 1^2 x + 1^2}{x}$$

(3)

$$a = 1^2$$

(4)

$$f(-1) = -1^2 - 1 = -2$$

PASARGAD

(4)

$$f(x) = ax + b$$

$$b = -4$$

$$f(x) = 1^2 x - 4$$

$$x-1 \geq 0 \rightarrow x \geq 1$$

$$(\underline{\quad})^2$$

$$\mu = \sqrt{x-1} + \sqrt{y+1} \rightarrow x \leq 12 - D_f = [1, 12]$$

$$\frac{r}{n-1} + \frac{1}{n+r} \neq 0 \rightarrow x \neq -\frac{\delta}{r}$$

$$(\underline{\quad})^1$$